. Semester 2, 2008 - 2003
Grade 11 Functions (University Preparation)
Surprise Quest — Umt 1 — Characteristics of Functions (lntrodncuon to Functions)

) d
fid, %zdgricd
. < ALl Yo A.{Ybi "//'-"'.--. "3‘_'.:

1. Circle the relations that are functions. (5 KUS

2. State whether each of the following is true or false. To receive full credit, you must provide an explanation to support
each response. (4 TIPS 4 COM)
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. Consider the function 4 defined by the equation A(f) =—4.9¢" +49¢ .

(a) The independent variable is t . (1 KU) /
A ‘ .

) The value ofh@)=_ —F.9(X) + ’7‘?(&74 78,4 < aarw
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(¢) h(1)=44.1 means that the point ( ) lies on the graph of 4. (2 APP)

(d) Solve the equation k() =0. (4 APP,2 COM)
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(e) Sketch the graph of k. Clearly mark the reots of the equation A(f) =0 on your graph, as well as the co-ordinates of
the vertex of the parabola. (5 APP, 3 COM)
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(f) Give a physical interpretation of the equation hi(t) =—-4.9¢" + 49¢ . (2 KU) 1)
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